



a) Find \vec{v}_p, \vec{a}_p relative to satellite body (0):

$$\vec{v}_p = \frac{d}{dt}(\vec{r}) = \frac{d}{dt}(a\hat{e}_1 + b\hat{b}_3)$$

$$\vec{v}_p = 0 + {}^n\omega^e \times a\hat{e}_1 + {}^n\omega^b \times b\hat{b}_3$$

Need ω 's, Rotations:

$$R_{e^e}^e = R_{\phi, 2} = \begin{bmatrix} c_2 & 0 & s_2 \\ 0 & 1 & 0 \\ -s_2 & 0 & c_2 \end{bmatrix} \quad R_{b^e}^e = R_{\phi, 1} = \begin{bmatrix} 1 & 0 & 0 \\ 0 & c\phi & -s\phi \\ 0 & s\phi & c\phi \end{bmatrix}$$

$${}^n\omega^e = \dot{\phi}\hat{e}_2, \quad {}^n\omega^b = {}^n\omega^e + \omega^b = \dot{\phi}\hat{e}_2 + \dot{\phi}\hat{b}_1 \leftarrow \text{mult. by } R_{b^e}^{eT}$$

$$= \dot{\phi}c\phi\hat{b}_2 - \dot{\phi}s\phi\hat{b}_3 + \dot{\phi}\hat{b}_1$$

$${}^n\omega^b = \{\dot{\phi}, \dot{\phi}c\phi, -\dot{\phi}s\phi\}^T$$

$$\vec{v}_p = \dot{\phi}\hat{e}_2 \times a\hat{e}_1 + \begin{bmatrix} \dot{\phi} \\ \dot{\phi}c\phi \\ -\dot{\phi}s\phi \end{bmatrix} \times \begin{bmatrix} 0 \\ 0 \\ b \end{bmatrix}$$

$$= -\dot{\phi}a\hat{e}_3 + \begin{bmatrix} \dot{\phi}cb \\ b\dot{\phi} \\ 0 \end{bmatrix}$$

$$= R_{b^e}^{eT} \cdot \dot{\phi}a\hat{e}_3 + \begin{bmatrix} \dot{\phi}cb \\ b\dot{\phi} \\ 0 \end{bmatrix} = \begin{bmatrix} b\dot{\phi}c\phi \\ b\dot{\phi} - \dot{\phi}as\phi \\ -\dot{\phi}ac\phi \end{bmatrix} = \vec{v}_p$$

$$\vec{a}_p = \frac{d}{dt}\vec{v}_p = \frac{d}{dt}(\vec{v}_p) + {}^n\omega^b \times \vec{v}_p$$

$${}^b \begin{bmatrix} b\ddot{\phi}c\phi - b\dot{\phi}\dot{\phi}s\phi \\ b\dot{\phi}\dot{\phi} - \dot{\phi}as\phi - a\dot{\phi}\dot{\phi}c\phi \\ -a\dot{\phi}\dot{\phi}c\phi + a\dot{\phi}\dot{\phi}s\phi \end{bmatrix} + \begin{bmatrix} \dot{\phi} \\ \dot{\phi}c\phi \\ -\dot{\phi}s\phi \end{bmatrix} \times \begin{bmatrix} b\dot{\phi}c\phi \\ b\dot{\phi} - a\dot{\phi}s\phi \\ -a\dot{\phi}c\phi \end{bmatrix}$$

$$+ \begin{bmatrix} \dot{\phi}c\phi a\dot{\phi}c\phi + \dot{\phi}s\phi b\dot{\phi}\dot{\phi} - \dot{\phi}s\phi a\dot{\phi}s\phi \\ -\dot{\phi}s\phi b\dot{\phi}c\phi + \dot{\phi}a\dot{\phi}c\phi \\ \dot{\phi}^2 b - \dot{\phi}\dot{\phi}as\phi - \dot{\phi}^2 b\dot{\phi}c\phi \end{bmatrix}$$

$$\vec{a}_p = \begin{bmatrix} b\ddot{\phi}c\phi - b\dot{\phi}\dot{\phi}s\phi - a\dot{\phi}^2c\phi + b\dot{\phi}\dot{\phi}s\phi - \dot{\phi}^2s\phi a \\ b\dot{\phi}\dot{\phi} - \dot{\phi}as\phi - \dot{\phi}\dot{\phi}c\phi - b\dot{\phi}^2s\phi c\phi + a\dot{\phi}\dot{\phi}c\phi \\ -a\dot{\phi}\dot{\phi}c\phi + a\dot{\phi}\dot{\phi}s\phi + \dot{\phi}^2b - a\dot{\phi}\dot{\phi}s\phi - \dot{\phi}^2b\dot{\phi}c\phi \end{bmatrix} = \begin{bmatrix} b\ddot{\phi}c\phi - \dot{\phi}^2a \\ b\dot{\phi}\dot{\phi} - a\dot{\phi}s\phi - b\dot{\phi}^2s\phi c\phi \\ -a\dot{\phi}c\phi + \dot{\phi}^2b - b\dot{\phi}^2c\phi \end{bmatrix}$$